1. kontrolna naloga

RAZRED 1. B — skupina A

. Izratunaj vrednost izrazov:
(@) (=3) + (=2)((+5) + (=3)) =

(b) 5-(=4) = ((6-(=3)(-2)) 1) —6-(3—-4) =
. Izracunaj:

(a) (3z—2)- (20 +5) =

(b) (a—b)(c+d) — (a+b)(c—d)— (2ad — be) =

. Poenostavi:

(a) (~2)% (~1)22. (~2a%)2 - (1) - 1 =
(b) (—22°y%2)? - (—3ay?2%)°

. Razsiri izraze in rezultat poenostavi:

(a) (5b—3a)? =

(b) (a® —2)* =

(c) (2 —3)3 =

. Razstavi izraze:

a) 49 — 16a2 =

(
(b) a® —17a + 60 =

(
(

)
)
c) 125+ 27a3 =
d) 325ytzt — 32 =
)

(e) a® —a? —Ta+7=
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Skupaj:

Kriterij: 19 — 24,5 zd(2), 25 — 31 db(3), 31,5 - 38,5 pd(4), 39 — 42 odl(5)



1. kontrolna naloga

RAZRED 1. B — skupina B

. Izratunaj vrednost izrazov:
(@) (=3) + (=2)((-=5) + (+3)) =

(b) 5-(=4) = (65— (=3)(-2)+1)-6-(3—4) =
. Izracunaj:

(a) (3z—4)- (20 +5) =

(b) (a—c)(c+d) — (a+b)(c—d) — (ad — be) =

. Poenostavi:

(1) (—4)- (12 bt (=3a%)? - (~20)° =
(b) (=3a%y%2)% - (~2ay?23)?

. Razsiri izraze in rezultat poenostavi:

(a) (3u—5v)? =

(b) (a® +2)2 =

(c) (a—3b)3 =

. Razstavi izraze:

81la2 — 16 =

w

/

T~
w

T~ T~
w

T~ | T~
W || W

~ | ™~ —~ ~
w w

T~
W || W

T~ T~ T~
W || W w w

w

Skupaj:

Kriterij: 19 — 24,5 zd(2), 25 — 31 db(3), 31,5 - 38,5 pd(4), 39 — 42 odl(5)



